The Association of Corporate Treasurers CPD Exit Test

MTF Treasury Technology Systems and the Internet

Worked Solutions

Question 1

What is a MAC?

(a) multi agent encryption

(b) morse algorithm code

(c) message authentication code

(d) mainframe authorisation coordinates

(e) don’t know

Answer 

The right answer is (c) message authentication code

A code is constructed from a payment sequence number, the characters making up the message and a special code unique to the party or parties.  This code will normally be encrypted while travelling to its destination to be decrypted by the recipient.

International Cash Management Manual Ch 20

Question 2

What is an asymmetric key?

(a) a key for which the opposing cut edges are not identical

(b) a digital key for which only one party to the transaction has access

(c) a digital key for which both parties to a transaction have access

(d) a key which enables operation of the treasury management system

(e) don’t know

Answer 

The right answer is (b) a key for which only one party to the transaction has access

With an asymmetric key the key used to generate messages is different from that used to verify those messages.  Only the originator can generate the authentication code with his key.  It is therefore a “digital signature”.

International Cash Management Manual Ch 20

Question 3

Why does a treasury management system require each user to have his / her own password?

(a) to ensure that each transaction can be traced to an individual member of staff

(b) to avoid writing the password on the side of the machine

(c) to ensure staff motivation

(d) to reduce the chance of passwords being forgotten

(e) don’t know

Answer

The right answer is (a) to ensure that each transaction can be traced to an individual member of staff


This feature is clearly important from a control perspective, so that individual deals can be traced and each individual’s dealing activity can be analysed.

International Cash Management Manual Ch 20

Question 4

When considering the selection and installation of a new treasury management system, it is clear that the selection criteria should be discussed within the treasury department and the expenditure authorised.

With which other departments should the treasury consult before finalising negotiations with the supplier?

A
financial accounting

B
legal department 

C
IT department

D
tax department

E
internal audit

(a) A and B

(b) AB and C

(c) A, C and E

(d) A, C, D and E

(e) don’t know

Answer

The right answer is (c) A, C and E

The ability to interface to the financial accounting system is clearly relevant and will save substantial cost.  The IT department could well have views on the purchase of equipment that is essentially IT equipment. The ability to work within the overall IT strategy of the company is clearly important.  Finally, internal audit must be involved to ensure that they are happy with the system’s level of security and “auditability”.

Although many treasury operations involve liaison with the tax and legal departments, this is not one of them.

The Treasurer April 1999

Question 5

One feature of most treasury management systems is that transactions only have to be entered once.  This entry then feeds the various areas / reports / payments as necessary.

What is the main advantage of this single keying in of information?

(a) cost saving

(b) reduction in errors

(c) saving in office space

(d) less pressure on staff

(e) don’t know

Answer 

The right answer is (b) reduction in errors

Providing that the initial data entry is correct the possibility of errors and confusion arising from subsequent incorrect data entry is removed.  Cost saving is important, but the cost of errors is normally estimated at a higher level.

International Cash Management Manual Ch 20

Question 6

Clearly the features required from a treasury management system are likely to vary from company to company. 

Imagine that you are Treasurer in a company whose treasury emphasis is on long-term, strategic risk management and the staff of the department comprises yourself and an Assistant Treasurer.  There is very little dealing although you do use small amounts of long-term derivatives.  Both you and your assistant are authorised to deal on behalf of the company.  No-one else has this authorisation.

Which of the following would you regard as the most valuable feature of a treasury management system?

(a) ensure that all transactions are recorded

(b) ensure that maturing transactions are not missed

(c) reports for management

(d) reports for transaction analysis

(e) don’t know

Answer 

The right answer is (b) ensure that maturing transactions are not missed

With only two individuals authorised to deal plus the long-term emphasis, the recording of transactions is unlikely to be a major problem.  With only two individuals concerned and the emphasis on the long-term strategy there is unlikely to be a problem with compiling reports for management or for transaction analysis.  However, the maturing of long-term transactions could be a problem, depending on the complexity of the products used.

The Treasurer April 1999

Question 7

For some years you have been using an internally developed set of spreadsheets that have served adequately as your company’s treasury management system up until now.  The fact that these spreadsheets have worked adequately has been a major disincentive to purchasing and installing a professionally designed system.  

Of the following, which one factor would be the most important reason to invest in a modern, professionally designed treasury management system?

(a) it will work reliably

(b) it will facilitate daily valuations of instruments

(c) it will reduce operating costs by 5% per annum

(d) it will enforce a much more thorough control framework

(e) don’t know

Answer 

The right answer is (d) it will enforce a much more thorough control framework

The ability to support a control framework is paramount.  This can be through a system of passwords to enforce segregation of duties or through the ability to display any limit breach on a ‘supervisor screen’.  Clearly more sophisticated systems allow more controls to be built in.  This facility is of much greater value than the alternative answers in a treasury which is still using “home-built” spreadsheets.

The Treasurer May 2000

Question 8

Your treasury management system supplier has contacted you to suggest that you take part in a trial to test their new upgraded system.  Of course the new software will be free of charge and you are assured that necessary staff training will be minimal.  The principle new feature is that the system is now web-enabled.  This means that subsidiaries will be able to access the system directly rather than providing data over the telephone.  All subsidiaries will be able to log on via the internet and enter their deals, exposures and payments directly.

Which one of the following factors would you consider to be most important when considering this suggestion?

(a) the benefits of allowing subsidiaries direct access

(b) the risk of subsidiaries’ entries being incorrect

(c) the benefit of avoiding duplication caused by passing telephone instructions

(d) the need for security when using the internet

(e) don’t know

Answer 

The right answer is (d) the need for security when using the internet

Until you are satisfied of the security issues when using the internet, the benefits of avoiding duplication and allowing direct access are unimportant.  The risk of subsidiaries’ entries being incorrect is no greater than now – if that is significant it is a separate problem and should be addressed separately.

The Treasurer May 2000

Question 9

You are treasurer in a business which has significant business in the US and reports under both US and IFRS.  You are concerned that your treasury management system should be able to cope with the requirements of both FAS 133 and IAS 39.

What are the two main features required in your treasury management system in order to cope with these accounting standards?

(a) the ability to mark-to-market all instruments and produce a summary

(b) the ability to provide fair values for the hedge and the hedged item and produce a value at risk analysis

(c) the ability to connect the hedge and the hedged item and provide a value at risk analysis

(d) the ability to connect a hedge and the hedged item and provide a fair value for the hedge and the hedged item

(e) don’t know

Answer

The right answer is (d) the ability to connect a hedge and the hedged item and provide a fair value for the hedge and the hedged item

The connection between the hedge and the hedged item is important to the operation of FAS 133 and IAS 39.  One of the objectives is the assessment of effectiveness in risk management.  

The Treasurer April 2000, FAS133.com

Question 10

What is an “application service provider”?

(a) a provider of outsourced software and software management

(b) a provider of outsourced treasury execution services

(c) a licensor of software applications

(d) a vendor of software applications

(e) don’t know

Answer 

The right answer is (a) a provider of outsourced software and software management

Vendors and licensors of software would normally be recognised as software sellers in that they provide software for the purchaser’s use.  Whether that software is purchased or licensed is a legal nicety.  An application service provider effectively rents the use of software which may be resident on the client’s hardware or a central server with access for the client. 

The Treasurer October 2000

